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Section A (30 x 2 marks)

Fer Q1 to Q30, 4 options are glven. Choose the correct answer and shads in
the oval on the OAS providad.

i. Which one of the following gives birth ta their young?

{1}  goldfish
(2}  swordtail
(3} clownfish
{4} angel fish

2. Which of the following flowering plarits isfare poisonous?

{A)  Ixora

{(8)  Hibiscus
(C}y  Oleander
{C) Allamanda

(1) Conly

{?) AandC
(3 Band D
(4 CandD

Animal

Ciraffe , Lizard Oslrich
Polar Bear Snake Flamingo

The animals above are grouned according to

{13  the food they eat

(2}  the way they move

{3)  tneir body covering

{4)  the way they reproduce
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Micro-organisms can be useful to human beings because they

(1)
{2}
{3)
(4

cauge food to rot

cause disease in plants and animals
cause our body and clothes {o smelt
decompose dead plants znd animals

Study the classification table below. What would X and Y be?

Never Alive

Things
I I ]
Living Things Non-living things
Onee Alive
X
Y
(1) an enveiope and a pan knifs

(2)
(3)
(4)

Some water was poured on a piece of bread which was then left in the
“cupboard for a few wesks. The bread was later found covered with mould,
The mould was able to grow hecause there was

{1
(2)
(3)
(4)

a dead [eaf and a plastic ruler

a woo! sweater and a paper cup
a wooden chair end a marble tile

(A) food
(8. noair
{C) . sufficlent moisture

Aand B
Aand C
BandC
A BandC
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Amoeba and bracket fungus are similar because Ihey-r

{1} are non-iving things

(2)  are non-green piants

(3)  cannot make fasd on their W

f4} can only be seen under g microscape

dJenny read a hewspaper article about the birds as skown below. Which of the
following describe(s) the common characleristic(s) of the three birds that she
had read?

A%,

Penguin

(A}  They can fly.
{(B) ‘Theylay egos
(C)  They have feathers as body coverings.

{1 B only
2) Conly
(3} BandC

(4) A BandC

Timothy conductad the folfowing experiment. He noticed that the mouse In
Tank B died aftar a few days. What was he trying to investligate?

P “—f— g pisce of
/} .o .-’} rd cardbozard

| . =

|

f@ I ,/_f' Q*;}é{?7

TANK A TANK B
{1) Living things need air to survive.
{2) _ Living things need food to survive.
(3) Living things need water ta survive.
{4) Living things need space to survive.
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10.  Which ona of the following bar graphs best shows the growth of z seedling to

a piant?
(1} (2)
Halght {cm) Hei:g'nt {erm)

Nurmber of Mumber af
- - WEEI{S WEERS

(3) {4)

Hedeght {cm) Hefght foen)

Number of Numbet of
Woels weeks

1. Kieren foung an 2nimal near a Pond in the gardan. |4 has the follawing
characieristins:

. 2 pair of wings
lays eggs in the waler
. its body is mada up of three parts

Kieren is likely to have found z .
-_

(1) silverfish
{2} Mmasquito
(3) fiying fish
(4} draganfly
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12

13.

14,

15.

The fruits above are groupcd according to

Lindsey touched a mimosa plant and the leaves ciosed. Through this, she
discovered that .

(A)  living things need air.
{8) living things can grow.
(C}  living things respond to touch,

{1} B anly
(2) C only
{3) Bard C

{4y A, BandC

in a game, Ricky is blindfolded. Judy holds a fruit near Ricky's nose and then
tet him bite it. What sense(s) does Judy want Ricky to use to decide what the
fruitis? -

(1)  sight
{2) taste
(3) smell and taste
{4y  smeil and touch

Fritits
Group X Srotup Y
fMango ' Tomato
Longan Papaya
Rambutan . Walermelon

{1} their sizes

(2}  their colours
{3) the textures of their skin
(4) the number of seeds they have

Metal i a good material for making anchors for the ships. This is because it is

(1) stroig and flexible

{2)  hard and able to float

{3) sfrong and able to sink

{4}  hard »nd cannot be scrafched easity
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18,

17,

Which of

(A)

(1)
(2)
(3)
{4)

Envelope

C only
Aand C

A, Cand D

A B CandD

the following object{s) isiare made of only one material?

(B}

Computer

(D)

Toaster

Look at the classification table below. Which one of the following objects has
its properties correctly described?

[ Objedt Able 1o Fioat Flaxible Strotig

{1} ¥1 coin f x N

{2) key X y 2

{3 eraser N -q’ X

{4) rubber band 4 4 X
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18.  Mr Tan rides a bicycle to work every day. What are parts X and Y of his
bicycie made of? '

X
Y
X Y
{1) meta) rubber
{2} metal plastic
(33 plastic rubber
(4 stee| plastic
18.  Which one of the following statements about magnels is incorrect?
{1} Magnets can attract objects made of iron and stezl.
{2}  Magnets cannot attract objects made of nylen and silk.
{3}  Magnels cannct attract objects made of paper and plastic.
{4}  Maagnels can attract objecis made of aluminium and titanium.
20
paper clips
/ rely "%_rf ! 1/;‘7 wooden ruler
1 o

magnat

During the abave experiment, Kelvin slid the magnel from right to fefi af the
underside of the woaoden ruier. He discovered that the paper clip on top of the
ruier maved along with the magnet.

What was Kelvin trying to find out?
(f: Paper clips can be made a magnet.
(2}  Magnetic force 2an pass through wood.

{3} Magnetic iorce can pass through a fiat surface.
(4}  Magnets cannot attract mzanefic materals like paper diips.
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21.

22.

23.

Mrs Lee wa'nts to weave a basket out of a materal that is light, flexible and
strong. Which material should Mrs Lee use?

{1
(2)
(3)
(4)

irom
wood
glass
caeramic

Which ef ihe fallowing malerials do not come from plants?

1)
- {2)

(3)
(4}

siik and wood
wool and fatex
leather and silk
woo] and cotlon

Which of the following househeld items does/do not make use of magnets?

(A}

(C)

{1)
(2)
(3)
(4)

Fot

Qi Lamp

A only
C only
Aand C
BandD

(B)

(8

Washing Machine
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24,  Based on‘the picture below, which one of the following correctly shows the
poles of the ring magnets which are marked X and Y7

X
Y
S-Fole
Fola X Pole Y
{1) N 5
(2} S N
(3 N N
{4} 5 )
25.  Which pair of magnets wilf attract each other?
oo M
(1} (2}
s
5]
[ 5]
M
| M

) ARE @ [~ ]

i

F3 Science SA1 2005 - Page 9



26.

27

28.

A bar magnet is placed neara gold ring. How will the ring respond to the
magnet? ,

(1) Itwill spin.

{2)  twill be repefled by the magnet,

(3)  Itwill be atiracted by the magnet.

(4} Hwill remain in its original position.

Which one of the following methods will not demagnatise a magnst?
(1) Putthe magnet over a fire.

(2)  Soak the magnet in water,

(3}  Hitthe magnet with a hammer,
(4)  Throw the magnet on the ground repeatediy.

Tommy holds a magnet by a string and spins it. Which one of the following
diagram shows the correct position of the magnat when it is af resf?

{1) (2}

(3) {4)

Carmpass

12 Belence 541 2005 - Fage 10



Jeaneltte conducted an experiment By stroking the entire length of an iron nail
several times with a bar magnet in the same direction, as shown in Diagram 1, She
then held the iron naii ak:ove a piece of iron and some paper clips, as shown in
Diagram 2, Based on the piciures below, answer Questions 29 and 30,

e

bt A pece of Iran

= UESoha]

Dizgram 1 . Diagram 2

28, What poles will Paint X and Point ¥ be at the end of the expernment?

X Y
(1} M-pole S-pole
{2) S-pole N-pale
{3) N-pole N-pole
{4} S-pole S-pole

30.  What will happen ta the paper clips in Diagram 27

(1)  The paper clips wili remain where they are,

(2)  The paper clips will slide along the plece of iron.

{3}  The paper ¢lips will be atiractad to the iron nail.

(4} The paper clips will be repelled away from the tron nall.

nnnnn



Section B ( 40 marks )

Write your answers in the Blanks provided,

31.  Lydia placed some WOrms in an ermpty shoebox. Then, she half covered
the box with ils Iid. The other haif of the box that was uncavered was
shone with 2 lamp as shown in the diagram below.

1

L-.__Y_._)
Area A Area B _J
&) Where will most of the worms be found 5 minules later? {1m)
b) What does this experiment show?

{1y

32.  a) In the diagram below, label the gills and cap. {Trr)

b) How does the living thing shown abeve reproduce? ) {im)

Which group of living hings does_it belong to? (1m)
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33.

34.

Clara sct up the experiment below. After ten days, she noticed that the
green bean has grown rools and leaves while the snail has died.

light
_ wire net wire nel
Cat s il
container __1 ) cantainer ——
. : reenh

damp cotian iy 2 e;%nf an snail — | @I water
a)  Why did the snail die? {1m)

b) Based on tha experiment above, explain the difference between
how plants and animals get their food. {im}

Jamie is designing a raincoat for her 4-year-old sister.

a) What will be the most suitable material that she can use to make
ihe raincoat? {1r)
b Give 2 reasons for your answerina). (2m)
(i)
(i)
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35.  Naomi did an experiment to compare the sirength of different materials of
the sama length and thickness, She then drew a graph to show the
result of her experiment for 3 different malerials as shown below.

Difficult 1o 4
break
Strength
Easy'tc:|_ 1 [ | »Matearial
break Cotton  Nylon  Rubber Copper
Thread  Sing  Thread wire

a) Complete the graph by drawing the bar for the copper wire in
relation to the other materials.

(1m)
b} If Naomi wanted to make a fishing line, would she use cotion
thread, nylon string or rubber thread? (1)
36.  The diagram below shows a U-shaped magnet.
P—ﬁ Q
R
a}  f Part R of the magnat above attracted 2 paper clips, how many
paper clips wauld Part G of the magnet likely to aftract? (tm)
b) What are Parts G and P of the magnat known as? {1m)
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38.

' B
Beverly was trying tc make an iron nail into a temporary magnet. She set
up the two experiments below,

Iron nail A iron nall B
&’;ﬁﬁs;m%= ;
electrical .|
bat; i wire
a)  Which iron nail would make a stronger magnat? {1rm)
b) (Give a reazon for your answer in a). (1m}
c) What is the type of temporary magnet above cailed? (1)

Grace classified some animals into two groups as shown in the {able
below.

Group X Platypus
Parrot
" Group Y Tiger
Whale
a) How did Grace group the animais? . {2m)
GCroup X
Group Y :
b) In which aroup would you place ‘guppy'? {im)
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39.  Frica put SOMe paper clips intg four vontainers made of different matarials,
giass, aluminium, stee| and iron. The walis of the containers ars of the

same thickness, Then sha placed 3 bar magnet near the autside.of each
container as shown below.

bar Q'ﬂﬁﬁ bar aluminium
magnet _ tonfainer magnet - T conlainer
m Paper clips 1 ;. E% EE paper clips

bar steel har iron
magnet containgr magnet ,— coniainer
. Paper clips paper clips
N
a) The paper clips in which container(s) will be atiracted by the
magnet? {Z2m)
b) MName 2 other tybes of materfal that allow the albiraction of the
magnet o pass through, (2m)

-and
—_—

40.  Look at the ba; magnet.

T3

The bar magnet was broken inta 2 pieces as shawn helow,

Labe! the polesin the 2 broken pieces of magneis below. {2m})
"'é =)
, \ 3
) L}
a) h]/ c)\ dh_
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41. _Based anwhatyou see in the picture, state 1 similarity and 1 difference
between the 2 plantsbelow-—

{Do not mention about their size and shapz.)

water lify cactus

@)  Similarity ‘ (1m)

o) Difference {(1m)

42. ook at the following picture.

) e
2 e
= N - S
fish bow!
a) Name the most suitable material that can be used to make the
ohiject above. {tm}
by  Give a reason why the material is used. {1m)
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43.  Some tests were carried out to fingd out the pmperhes of matedals P, Q
and R. The resulis were shown in the tabla below,

Experiment Materials
P Q R
Is it flexibla? X v X
Is it waterproof? J % J
Does it float on water? ; X X
Does it break when drop? r
oes it brea n drop Y X X ]
"a) Based on the results abnve which material would your use to make
N a T-shirl? : {1m)
b)  Give a reason for your answer in a). {1m)
c) Give a reason why you would not use material P io make a tay for
a baby? (1m)
d)

State one difference bebtween material Q and material R. {(1m}

The pictures below show two pairs of shoes made of different materials.

=S

wcoden_ shoes canvas shoes

Which pair of shoes -, 1¢ you choose to wear for jogging?  {1m)
Lt

Give a reason for your answer in a}, ~(1my
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45.

Look at the dia
objects, list the

the tabie.

gram helow, [f Adela uses a magnet to touch each of the
objects that can and esnnot be altracted hy the magnet in

(4m)

L

handkerchiaf

steal ruler

rubber band

iron nailg

Objects

attracted hy the
magnet

Objects not attracted hy the |
magnet
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Answer Sheets
Metheodisi Girls’ Pri 3 841 /20006 Science

2 2y 4 Iy 2 4 4 ) I
® 2 D3 B 3 9 1 10y 3
2 122 133 14 4 15) 3
i6) 1 17 4 18 1 19 4 20 2
2y 2 2 3 2 3 24) 4 15) 3
2% 4 2 2 2 1 29 2 30) 1
Q31a. The worins will move towards Area A
b. Worms prefer stays in a dark area.
Q32a.
(1) cap ) gills l]
]

b. 1t reproduces by spores.
. it belongs to fungi.

Q3a 1t is because the snail has no foed even though it has water.
b. Plants pet make their own food, while animals have to hunt their food.

(Q34a, Plastic material

b(i}. Itislipht
(ii} Itis waterproof
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Q35a

Q36a.

Q37a.

Q38a.

Q39

Q40.

Q4la.

Q42a.

Diffill to 4
bresk

Eirength

Easyin ‘

break Gotion
Thread Swipg  Thread  Wire

l;;Jn {_l H -—Mateﬂai.

Hubber Coppes

She should nse nylon string.

Part Q likely attract more than 2 ¢lips.
Part Q) and Part P arc known as North pole and South pole.

Irom nail A.

It ias more numbers turns of electrical wire around the iron nail..
Temporary magnet is called electromagnet.

Group X : They lays eggs
Group Y : They give birth

1 would put “Guppy” to Group ¥.

The paper clips
magnet.

in glass and aluminum container will aitracted by the

Wood and mibher.

had

o/

Morth

Similarity
Different

VAR

south North South

- Both have flowers

Waterhily is a partially submerged plants white cactus is
grown on land.

Glass is the most suitable material to make the object above.

1t is transpatent.
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J45a.

Iviaterial Q

it is flexible and will not break easily.

Tt iz because Material P it is not flexible and it break easily when dropped.
Materiai R is waterproof and Material Q is not waterproof.

Canvas shoes.
It is because canvas shues is made of rubber and lighter than the wooden
shocs.

Objects attracted by the magnets + iron nails, iron thumbtacks,
steel muler

Objects non atiracied by the magnets  : rubber band, stone, chopsticks,
Handkerchief and giass,
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